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1. MERMALT, RO=AEED £ 2+ Fht X, 2. % (180" < 0 <270 )» & %, sin 0 %3k k.
Complete the following table of trigonometric functions using the diagram. Find sin 0 when it is in the third quadrant (180°< 0 < 2700)‘
12 foi il
777777 1 00362—%@33, cos 0 = — \}g_@k%
- . b . b
V3 sin 0 Z3R® L, sin 0 Xk X,
””” )
- sin® 0 =7— cos’ 0
L (ﬁ 4)2 _ 3
N 2 4
sin 0 <0 k7"
3
sin 0 = — J
V3
0 0 30 45° 60’ 90’ 2
sin 0 0 5 \/22_ 23 / Ev Lrsga ) ) b
3.4 4 % R(270°< 0 <360 )D& X sin 0, cos 0 &R K,
\/_ Findsin 0 andcos 0 when it is in the fourth quadrant (270° < 0 < 360°).
V'3 2 / N &
cos 0 / 7 7 7 0 {51 R R R
tanGZ—L@k% tanGZ—L@k%
tan6 | 0 = 7 V3 V3 ’ V2 ’
v . b . b
sin 0 ,cos 0 Z3RD X, sin 0, cos 0 &K &,
0 90’ 120° 135 150° 180°
/
f— 2
. Vo cos? 0 /7 tan< 8
sin 0 B
V7 Ve / g 4
/ 2 3 =7+ (*—) = —
cos 0 0 i el Rt all Rt —7 V3 3
3
tan 0 —/ cost ) —= —
4
0 180° 210° 225° 240 270° cos 0 >0 Lt v
sing | 0 |- —L —7 7
2 cos O = Va
V2 /
cos 0 - - B /3
2
tan 0 / ;
~_sin 0
tan 0 = cos 0 £
0 270° 300 315 330° 360°
sin § = tan 0 X cos 0
sin 6
()
V3 2
cos 0
__
I N
t — — —
an 0 V3 / NG 0
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1. % 3 £ R180<0<270" )DLt &, WoOMEKERD L, | 2. H 4 % R(Q70<0<360 )DL &, WOBEKERD L,
Find trigonometric functions when it is in the third quadrant (180° <0 <270°). Find trigonometric functions when it is in the third quadrant (270° <0 <360°).
nv N Hh nvEn Hh D
f5il /E ] e f5il /E i
@ sinGZ—\/—;)_@k% @ sinGz—%@k% @cosGZ%@k%, @cosGZ%@k%,

b L
cos 0 ,tan 0 Z K K,

b L
cos 0 ,tan 0 KD L.

cos’0 =/— sin? 0
L (__v&)z
o 2
7
oy
cos 6 <0 k1
_ v
cos O = — 7
-7
- 2
tan 0 — S0
cos 0
(BN
— 7 -
= 3
@ sinG:—L DEE|© sinGZ—l—@k%
V5, V10,
cos 0 ,tan 0 K X, cos 0 ,tan 0 KD L.
cos’0 =/— sin? 0
)
5
4
5
cos 6 <0 k1
cos O = — %
2
VS
tan 0 = sin_6
cos 0

b L
sin 0,tan 0 XK X,

b L
sin 0 ,tan 0 Z kK X,

sin? 0 =/— cos’ 0
B 72 \2
=/ ( 73 )
2
749
sin 0 <0 k"
. 5
- 73
tan 0 — S0
cos 0
5 ). 72
N 3] 73
B 5
- 72
@ tan 0 =—1 D & =, @ tan § =— 2D & &,
b L b L
sin 0, cos 0 &K &, sin 0 ,cos 0 K& &,
/ =/+ tan?® 0
cos? 0
=/ (=7)'=2
/
2 _
cos* 0O 2
cos 6 >0 k"
_ ]
cos 0 = 7
_ /
V<2
tanG:MiU
cos 0O
sin § = tan 0 X cos 0
/
=|— /)X
(-
B /
V2
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Complete the following table of trigonometric functions using the diagram.

YN2
57
6 w -
3
77T
6 Y
y
1
-1
7 0
-1
0 0 & 1 5 5
. 7 V2 V3
sin 0 0 7 7 7 /
V3 V2 /
cos 0 / 7 7 7 0
tan 0 0 ﬁ / \/§
0 7T 27T 37T 5T
2 3 4 6 T
sin 0 ‘éz
/ V2 V3
cos 0 -3 ) ) — 7
tan 0 —7
0 71T 5T 47T 37T
T 6 4 3 2
. 7 V2
cos 0
tan 0 \/§
3 5 7 11
0 7 3 7y 5 27
sin 0
cos 0
/
tan 0 — 4/ —7 — = 0
3 \/3—

2.

JE(

Evo Lxd A 3T b
F3 4 M(r<0<— " )oLE, cos 0 &RD L,
Find cos 6 when it is in the third quadrant( <0< 3; )
e fZn bA WD
151 B i 74
sin 0 = — i DL x sin 0 = — 1 D& X
Vo ’ 2 ’

HL
cos 0 &R &,

cos’ 0 =/— sin? 0

)Z_L
2

V<2
cos 0 <0 k1

cos 0

HL
cos 0 &R X,

By LEdUA g . b &
%4 ( 5 <O <2m )DL, sin 0, cos 0 %KD L,
37
Find cos 6 when it is in the fourth quadrant ( — <0 <27 )
A HAEWD
15 R4 i &4

sin 0 ,cos 0 ’Z’%%&’)J:o

— 2
cos’ 0 /+ tan< 0

/
2 _
cos< 0 J
cos 0 >0 L
_ ]
cos 0 = 7
7
2
tan 0 sin 0 Iy
cos 0O
sin § = tan 0 X cos 0

tan 0 = —1 O & %,
b L
sin 0 ,cos 0 Z3R¥D X,
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Find sin 6 and tan 6 when it is in the third quadrant ( T <0< )

v v

il i

HA TN

[ &

‘/2_@k’a°

cos 6:——2

HL
sin 0 ,tan 0 Z kK X,

@

sin? =7— cos’ 0

cos 6——§@k%

HL
sin 6 ,tan 0 Z 3R X,

@

b L
sin 6,tan 0 Z 3R X,

sin? =7— cos’ 0

- (‘ v )2

sin 0 <0 &

sin § = — 70

sin 0
cos 0

)

tan 0 =

[

(2
2
2]
oy 2
sin 0 <0 k"
. /
sin 0 = — -
I A/
\/Z 2
tan 0 — sin 0
cos 0
(V2N V2
=\-—3 -
= 1
@ cosf=— 1 DEE|© COSGZ—L@k%
V10 V5

b L
sin 6 ,tan 0 Z 3R X,

LxdiFh

£y 37 SE weits b
2. B4 G M(T-<0<2r)olE ROMKERD L,
Find trigonometric functions when it is in the fourth quadrant.
vy HAED
f5il /E i
Dsin 0 =— —— 0L %, |Osin 0 =— 2 x,
5 13 .

b L
cos 0 ,tan 0 Z R X,

cos” 0 =/— sin? 0

T

/6
25

cos 0 >0 LV

cos 0 =

b
cos 0 ,tan 0 Z R X,

@ tan 0 =—2 D & =,
sin 0, cos 0 %%%&’)oto

I 2
052 G—H— tan‘ 0
=7+ (=2)=5

/
2 -
cos* 0 s
cos 0 >0 Lk
_ 1
cos 0 = b
_ /
V5
tan sin O Fy
cos 0O
sin 6 = tan 0 X cos 0
/
= | — 2))(
(-2 =

@ tan § =—1 D & X,
sin 0 ,cos 0 %%%&’)oto
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1. /k@ ﬁ Hﬁ%;k&) fcﬁ é AN Find the following trigonometric ratio. . % 3 % BE (180 < f <270° )@ L g‘ /k@ ﬁ bk %;k b)) J:
e AR Find the following trigonometric funtctions when it is in the third quadrant.
151 RH gl e En I
b ] 15 B il &
X /(-)\ @cosG——L@k% @cosG——L@k%
r
? yV sin 0, tan@’a*:?k??’)J: sin 0, tan@’?:?k&’)i
0
* P —v3
| y r//o
sin 0 = - sin 0 =——— x
2
cos 0 = —~ cos = ——
Yy
tan 0 = —— tan 0 = ——
: T Y

Eh< AT [P 3] A D

o MEMMLT, ko —fAEMD % &%me k.

Complete the following table of trigonometric functions using the diagram.

—2 —2

0 180° 210° 225" 240 270°
. 7 V2 V2
Sin 6 0 - ) - ) - ) — 7/
o 2N
cos 7
tan 0 /
0 270° 300° 315° 330° 360°
sin 0
cos 0
tan 0 —7

=4—3=7
x <0 &k
X=—+7 =—17
J:’D/C)

. /
sin 0 = — 2

@ tan 0 = /3 © L x

b L
sin 0,cos 0 Z3R X,

J:’D/C)
. V3
sm 0 = ——
2
/
cos 0 = 2

@ tan = 1D & X,

b L
sin 0 ,cos 0 Z K& &,
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3 % [R(180° < 0 <270 )D& &, KD =flka Rk kL,
Find the following trigonometric funtctions when it is in the third quadrant.
ey b AN
i il
. 1 . 4
@smGZ—T@k%, @smGZ—T@k%,

b L
cos 0,tan 0 Z K K,

x Y
(0]

b L
cos 0 ,tan 0 Z K L.

xzfzz*(*/)z
=4—7=3

x<0 &
x=—1+/3
c}: > /Cy

V3
cos 0 = — ——

2
—/ /

t 0 = =

1 1

@sin 0 =——F— D & &
V5 L.
cos 0 ,tan 0 &K K,

x 0\

0]

—7 W
Vo) =« +(1)

=5—7/=/4
x<0 &
x=—4 =-2
c}:’D/Cy
cos 0 = _
5
tan  — —L —

@sin 0 =——F—= D L &
V2 o,
cos 0 ,tan 0 KD L.

2.

20
e

5

Lxd A

-

oF Shh< O b

£ ﬁé&(270°< 0 <360 ) & x, KROZfka R k.

Find the following trigonometric funtctions when it is in the fourth quadrant.

no Yh
51| R R RH

1 12

D cos § =— D & =, D cos 0 =—F—D ¢ %,
2 b L 13 b L

sin 0 ,tan 0 %K kX, sin 0 ,tan 0 kK X,
/

2 X

tan 0 =

e

® tan 0 =—2 D & %,
HL
sin 0 ,cos 0 ZR L,

b

1
tan 6 = — —— O L X,
@ tan 0 3 =3
sin 0 ,cos 0 Z K& &,
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1. /j’(@ ﬁ & ;k bp) fcﬁ é AN Find the following trigonometric ratio.
o 2N bh D
f5il /E i RE
P 0
[\«
r y N
Y
r
(0] X P
sin § = —2 sin § =——
r
cos 0 = X cos ) =——
r
tan 0 = _‘JCL tan 0 = ——

2. %%'Jiﬂ% L,

WO =R D Ak

Complete the following table of trigonometric functions using the diagram.

B x 9 LAYV

27 In2 7T 7T
y 3K | V3RS N
1 1
-1 0 4 2 —1 1
T\ o 0% x 0 x
—1 —1] 3¢
5T 2
3
1T 57 4T 3T
0 n 6 4 3 2
sing | 0 |- |- —7
cos 0
tan 0 V'3
37T 57 77T 117t
0 2 3 4 6 27
sin 0
cos 0
tan 0 —/ —7 S — 0
3 Vo2

A LxdFa

3. %4%5&(

Shmd O

YDk X, KD =R L,

Find the following trlgonometrlc funtctions when it is in the fourth quadrant.

v

il i

HA TN

[ &

©) sinGZ—Ag@k%,

b L
cos 0 ,tan 0 Z R X,

©) sinGZ—Jg@k%,

b L
cos 0 ,tan 0 Z K K,

V2

=2+7=3
x>0 k1 x=+/3
J:’D/C)

. /
sm ) = — ——
V3

cose‘ﬁ

‘\/§

b L
sin 0 ,cos 0 Z3R X,

=4—2=2
x>0 &M x=+2
J:’D/C)
cosG:—"’2
2
tan@;i:~/
NS
1 1
@tan ) =——=0DLZX,|@ tan § = — ——= D & &,

V3

b L
sin 0 ,cos 0 K& &,
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Find the functions when it is in the third quadrant ( T <6< )

nwn

il

HA N

[ &

D cos 6:—%@k€<,

HL
sin 0 ,tan 0 Z kK L,

—3/ oV

V

@ 0056:—%0)&%,

HL
cos 0 ,tan 0 Z K L.

3 b L
sin 0 ,cos 0 ZK &,

xa:32+(44)2
=9+7=70
x>0 kn x=4y/0
c}:’D/Cy
sin 0 = — —~
V70
cos 0 = — 5
V70

=yt —(—3)°
=7/6—9=7
x<0 &
X =—4/7
Ko T,
. V7
sin = — ——
4
i
tan 0 = =
—3 3
1 1
@tan § = ——— D L = ® tan h =——— D L &

2 b L
cos 0 ,tan 0 KD L.

2.

2 LxdiFh

ekl nhTH b &
Ha 2R <p<en)Drx, ko BkERDL,
Find the following trigonometric funtctions when it is in the fourth quadrant.
LR HA D
15 B il &
1 1
D sin=——7""0D&LX, |D sin 0 =———D & X,
2 b 3 b
cos 0 ,tan 0 Z R X, cos 0 ,tan 0 Z K K,
X
5 —1
27 =2 ()
x2i22* (*/)2
=4—7=3
x>0 L x=43
c}: 2 /C )
cos 0 :4&
2
/ /
tan 0 = =
an 3 /3

@ tan 0 = V2 DL X,
sin 0, cos 0 %%‘%&’)io

6/
T

=7 +(*\/2_)2

=/+2=3
x>0 L n, x:\/3_
-7,
sin6:~—\/2_
V3

cos 0 =

3~

@ tan 0 = V3 DL &,
sin 0 ,cos 0 75’%‘%&) 5o
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A oF &H L& Lxd o bA N DE &H L& Lxd o
ﬁ“%@ Yk@%:ﬁ & ?ﬂi %VH: J:o Prove the following equation. 2] E@ 7}(@%1 & %ﬂi Eﬁﬂ’ J:o
cos 0 cos 0 2 1 1 2
+ = + =
1+ sin 0 1 —sin 0 cos 0 1+ cos 0 1—cos 0 sin? 0
cos 0
/4 sin 0
cos 6(/* sin 6)
a (H— sin 6)(/* sin 6)
cos 6(/* sin 6)
B /— sin’ 6
cos 6(/*51116) /— sin 0
B cos? 0 B cos 0
cos 0
/— sin 0
cos G(H- sin 6)
a (/* sin 6)(/+ sin 6)
cos G(H- sin 6)
B /— sin? 0
cos G(H-sine) /+ sin 0
B cos? 0 B cos 0
cos 0O cos 0O
+
/+ sin 0 /— sin 0
/— sin 0 /+ sin 0 2
p— + p—
cos 0 cos 0O cos 0
Q.E.D
s BA N
FIE® 90" < 0 < 180, sin O cos 0 :—%@k%, HEE® 90" < 0 < 180", sin 0 cos 0 :—%@k%,
Fo XA b Fo XA b
sin 0 —cos 0 O #RD X, sin 0 —cos 0 O #RD X,
Find the value of sin 6 — cos 6 when sin 0 cos 6 = — 3
90" < 0 < 180°
(sin 0 — cos 6)2
— sin?0 —2 sin 0 cos O + cos? 0
% sin? 0 + cos?0 =7 LY
_ A NN
A (* 3 )* 3
0" < 0 <780 &,
sin 86 >0 ,cos 0 <0 ,sin 8 —cos 0 >0
sin 6 —cos 0 = %
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Prove the following equation.

1 1
1+ tan2 §  sin2 0
7 7
7T tan’ 0 I sin 0 \”?
cos 0O
~ sin? 0 cos” 0
sin? 0 sin? 0
~ sin? 6 + cos? O /
o sin? 0 ~ sin? 0 QED
v v
BIE® sin 0 + cos 0 :%@k X,
Bz b &
sind 0 + cos3 0 D i R K.
Find the value of sin3 6 + cos3 6§ when sin 6 + cos 0 = %
. / Dx o~k [ )
sin 0 + cos 0 = T@F@iﬁ%,Z%Ték

(sin 0 + cos 6)2

= sin?0 +2 sin 6 cos O + cos? 0

=742 sin 0 cos O = %

Ko»T, sin 0 cos 06 =— %

sin’ 0 + cos’ 0

=(sin 0 + cos 0)(sin?0 — sin 0 cos O + cos? 0 )

74{/*(*L)}: /13 73

1
2 p—
1 + tan® 0 cos2 0
HA WD . ]_
HEE® sin 0 + cos 0 =— D & X,

4
bz

b &
sind® 0 + cos® 0 O i kKD k.

3 9 3 9 27
= B B . 1
BIEG 90" < 6 < 180", sin 6 cos 0 :—T@k%,
Hiv b
sin 6 —cos 0 @ fH &K X,
Find the value of sin 6 — cos 6 when sin 6 cos 6 = — 4
90" < 0 < 180°

(sin 0 — cos 6)2

= sin?f —2 sin 0 cos O + cos? 0
% sin? 0 + cos?0 =7 LY

e ()

900 < 0 <780 &1,

sin 86 >0 ,cos 0 <0 ,sin 8 —cos 0 >0

. _ /3
sin 0 — cos 0 = 7

bA D

bt

sin 6 — cos 0 © f& %%%??’)oto

HEG 90" < 0 < 180", sin 0 cos § = —

ﬁ@k%,

4
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Prove the following equation.

sin360 —cos30 =(sin® —cos0) (1 + sin6cos0)

(% ﬁ):(sine —cos 0) (sin? 0 +sin 6 cos 0 +cos? )

sin?6 +cos?0 =7 k1

(;jz‘ﬁ):(sine *COS@) ( /+sin 0 cos@): (a Nﬂh)
QED

EOUAN = L5 LE Lxd b

FIE@ kot i B

Prove the following equation.

(sin@—cos 6)2— 1 — 2sin 0 cos 0

(£i2)=sin? 0 —2 sin 0 cos 0 + cos’ 0

sin? 0 +cos? 0 =/ kY

)~ A

(%jig):( /—2 sin 0 cos G)Z(Eiﬁ)

QE.D
FOLAN A . 1
BIEG sin 6 — cos 0 :TODk%,
Bz b
sin3 0 — cos3 0 O fH =KD X,
Find the value of sin3 0 + cos3 6§ when sin 8+cos8:%.
. / Vo~ ()
sin § — cos 0 — 7@@@%2%76&
(sin 0 — cos 6)2
. /
=/—2 sin 0 cos O = W
. 3
L 5T, sin 0 cos 6 = e
sind 0 — cos? 0
:(sin6~cos 6)(/+ sin 0 cos 6)
/ 3 / 5 5
_— _— f— X f—
2 {/ ( e )} 2 e 76
AN T . 1
B -E@ ;< 0<m, s1n60056:—T,
Bz b
DL X, sin 0 —cos 0 D &K X,
Find the value of sin 6 — cos 6 when sin 0 cos 6 = — %,
90" < 0 < 180°

(sin6~cose)2

=/ —2 sin 0 cos 0

_ A 2 _ 5
R
——<0<m L,

sin 86 >0 ,cos 0 <0 ,sin 8 —cos 6 >0

sin 6 —cos 0 = %

HA D L5 L Lxd o

HED Ko%K % @Mk,
sin? 0 +cos3 0 :( sin 0 +cos€) ( 1 — sin 6 cos 6)

HA D oF L5 LE Lxd b

HEOQ wo%EX% it WHE L,
(sin 0 + cos 6)2— 1+ 2sin 6 cos 0

HA D 1

HEEG sin § — cos 0 =— D & X,

w

bz

sin3 § — cos3 0 © fH 75\2%‘%&5 X,

b

HEE@D) —2 <0<, sin@cosGZ—L,

P
1=
DL x, sin@—cos@@fliﬁ’i’

b L
s

2
oM
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D = ﬁaf‘ﬂiﬁz%ﬁq 0D = ﬁq&ﬁ%x%ﬁﬁu\f %% .
Express the following trigonometric functions using angle 0 .
éJﬁh< ﬁ)/u'f’/ﬁ
(O) 6 @: i‘jd}ﬁ t:‘/;JL\i/uli&tﬁ EHFwn Th
YA HALH EICEE 0 O Plx, y)
P & D,
Yoo o . e
. o |\ sin 0 =y (F X)
o X X Lz
K cos 0 = x (,\)
o y it
— tan = — (181 %)
i" <k
(1) 6 +360 ® =144
t:‘/;JL\i/uli&tﬁ EI T
N2 BALH Rz ?6—1—360
Th
P’ RP EED,
360° NN~
-1 o L. sin( 0438607 )=
‘o] x| x
cos( 0+360" ) =
-1
tan( 0+360° ) =
gnm oY
2) 6 +180 ® =144
7::‘/,“\7;/“:15 500
YAl HAL ) BIcE £ 0 + 180
Th
P RP ELD,
180°
~1[ = 1 sin(6+180° )=
X
(o 4 °
P cos( 0+180 ):
-1
tan( 0+180° ) =
R Shmlmh m
3) 0 +90° ® =%
t:‘/;JL\i/uli&tﬁ EI T
VAL BALH Rz 1”6—1—900)
P' % <o,
P NN P % k é o
90°
-1 o . sin(6+90 )=
- o >
cos( 6+90" )=
-1
tan( 0+90" ) =
ﬂﬂ:% ﬁ)/u'f’/ﬁ
(4) — 0 O =44 ¥
7“/,1/]4:5‘_/1/[:\}:7 55(}%\
Ip1 HALH BIC#E&E—0 @
Th
P RP ELD,
—1 0 x|l sm(— 0 ):
(0] — 0 X
—y|----- ' cos(— 0 ):
-1
tan( 0 ):

2.

3.

4.

oF éiﬁ)< ﬁh/u'j'o b=
RO =MEED E % Zk??’) £
Find the values of the following trigonometric functions.
LR bA N
i il &
@ sin 390° @ cos 480
= sin( 30" +360")
=sin 30 = —4—
@ cos (—60") @ cos(—30")
= cos 60 = %
oF oLz % bEY b . .
RoHEX 2T 00 E 2R L, (00=0<360")
Find the value of 0 that satisfies the following equation.
hnEn bA N
i il &
@sinGZ% @sin@z—%
Y M Y
0 =30, 750
o X X
@ sin 0 = \/22_
YT
0 =45, 735
o X
@ cos 0 = %
Y™
0 =60, 300 [ /]
o/
¥ S Lo LE e A b . .
WOREX ZH -9 0 ofEZRkD L, (00=0<360")
Find the value of 0 that satisfies the following inequality.
ey b AN
i il &

@ sin 6 > %

30" < 0 <750

60" < 0 <300

=0

@ sin 6 > 5

@ cos 0 < —
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1.

oF é/u/ﬂ</3/u4'9

é/u/l</3/u4’7

D = ﬁaf‘ﬂiﬁz%ﬁq 0 D= ﬁq&ﬁ%x%ﬁﬁu\f %% .
Express the following trigonometric functions using angle 0 .
éJ AR /u'f'/ﬁ
(O) 6 @: 3\2 t:‘/;JL\i/uli\tﬁ EHrFwn Th
YA HALH EICEE 0 O Plx, y)
P & D,
Yi-— - . P
1 o |\ sin 0 =y (F X)
o X X Lz
\ cos 0 = x (,\)
. y it
— tan = — (181 %)
gnm AT
(1) 6 +360 ® =144
t:‘/;JL\i/uli\tﬁ EI T
YAl BALH Rz 1"6—1—360
Th
P’ RP &ED,
360° NN~
-1 o b sin( 0438607 )=
‘o] x| x
cos( 0+360" ) =
—1
tan( 0+360° ) =
. EABCPAT S
(2) 0 +180° @ =M
7::‘/,“\7;/“:15 500
VAL HAL ) BIcE £ 0 + 180
Th
P RP ELD,
180°
1 sin(6+180" )=
X
cos( 0+180" ) =
tan( 0+180° ) =
éJ AR m
3) 0+90° = E %
7:‘/,1/]4\72_/1/[,]‘:5 E5 T
VAL HLAL iz 1’ 0+ 90" ™
P' % <o,
P N P % k éo
90°
-1 o . sin(6+90 )=
5 >
cos( 0+90" )=
—1
tan( 0+90" ) =
ﬂﬂ:% ﬁ)/u'f’/ﬁ
(4) — 0 O =44 ¥
7:‘/,1/]44,:(‘_/1/[:3:5 55(}%
Ip1 HALH BICE3E—0 0
Th
P RP ELD,
—1 0 x|l sm(— 0 ):
(0] — 0 X
—y|----- ' cos(— 0 ):
—1

o MEHMLT,

IN2

1- - - -
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Complete the following table of trigonometric functions using the diagram.

-1
0 0 30° 45° 60 90
. 7 V3
sin 0 0 5 —
o
cos 0 / T’Z 0
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Find the values of the following trigonometric functions.

nwrEn bAoA N
1) jE F
@D sin 390° @D cos 420°
= sin( 30" +360")
= sin 30 = —o—
@ sin 210° @ sin 240°
= sin( 30" +/¢0")
=—sin¢) =— —4—
® cos 120° ® cos 150°
= cos(30" +90")
=—sin30 =— —4—
@ sin(—30") @ sin(—60")
= sin3 = —5—
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1. kD= ﬁl@eﬁﬁ%ﬁﬂ@ ﬁ%ﬁi&%ﬁﬁb\f?@ﬁ: 2. kD= 0)1?%?!?&)&
Express the following trigonometric functions using angle 0 . Find the values of the following trigonometric functions.
Shmln /u'f,a av D bA D
(O) 6 D= 3\2 T:/ub\i/ul;ﬂto ko(ﬂ Th {ﬁuiﬁ FIFE%
HL T /x O) Y
Il L 0 P(x ) D cos 737t @ cos 7ét
P LD,
Yoo . Ep =cos( 5 +2n)
. 5 |\ sin 0 =y (F X) 3
0 X X rz - 7
K cos 0 = x (,\) =cos T3 ="
it
— tang = —— (il &)
@ sin (— %) @ sin (— %)
S mhT S
1) 6 +27x O = _ T _ /
EALIALES  E3H0 - smomem e 2
I AL EICE#E 0+27 D
Th
P WP ELD,
yl----
oF 5Lz » b bl
f 27 [ sin(g+2 R )= 3. ko%EXzMET 00 a2k L, (0=0<2x)
Q x| X Find the value of 6 that satisfies the following equation.
av D bA D
cos( 0427 )= 15 B il
-1 @cos@z—% @ cos 0 =

tan( 0+2 7 ) =

Al EAC T L Ic R 0+ 1
Th
}3‘ RP ELED, @ cos 0 = \/22_ @ cos 0 =
T YT
o L sin(0e R )= ST
x 0 — T 77T 1
4 4 (0] x
P\ - cos( 0+ 7 )= \\M/
—1
tan( 0+ 7 )= @ sin 0 = \/22_ @ sin 0 =
yM
S PAT )
(3)6—1—%@5%5 G:SZE,T 6\1}
TAWVWZAL LD o
YN HALH RICB&E 0+ 50
P' % o,
7T P /';j_iP %k %)O
2 oF s oLOLE ke 1/u
T\ 4. RORER 2+ 0 ORI &K D L, (0=0<2nr)
1 = 0 1 > Sln(e +T)* Find the value of 0 that satisfies the following inequality.
i i i
[ 5]
cos(6+%):
— D cos O = — D cos 0 =
tan(6+%):
gﬁ <7J)/u'i}',5
4 —0D=mAE
7‘];&4&&[‘;15 ko(}‘b 2_
YAl AL BIc#EE—0 o ?ge
Th
P RP ELD,
. - . sin(— 0 )= @ sin 0 < — \/22_ @ sin 6 < —
X —p )=
(0] 0 X Y11
—yl----- ' cos( 6): ?0 >1f
X
—1
tan(—G):
5 7
<8<




